2RXS J145507.9+192025

gamm*powl

931440 0007

-
; 1 ¢
= S =
(A93 s zwd)/suojoyd
1 T [TTT T T T 1 T [TTT 1T
u I _
l
[ 4)/% ]
:I I | I [111 |:
T 0
S =

(A®¥ s)/syuno)

1.00

Energy/keV

0.10

1.00

Energy/keV

0.10

6.41E-01
1.76E+00
2.37E-04

+—-
+—-
+—-

o
-— oN — o <
o —~- o + o
I I I =] |
[25 T 5 T % I T A % |
+ O w © <
w @® O n <9
- n v I ©
Il

Q

© I
[ Il

) Il g
o § I I
o, o T o
n - Z [ Z
LR LN R L

_+_
_i_
_+_

=SRRANRERIRRRR] FRRRINANRL]

T

« ey

s[enpisay

1.00

0.10

X2req = 0.878

Energy/keV



